=831

B =2 ojopdi2] IC - £F10|AlO}IC

—> I\ 32 2=0]%| (F£7}0]|A|0}) — 0|OFH}2|¢EE) (270 km, 1,000 H)
2I710|A|JOHC—<20]A|OHC (0| X|A|O} OjLIO] IC QF 22| =) — 5|22 X]

— 5] 22 2%=0]%] (£7}0]|A|O}) 0| X|A|OF 2H=) (2 70 km, 300 H) OIXIAl
F710|A|OHC—O|FX|A|O} OfL}DO] IC & 22| =—0]t7|X[O} - 0|7 |LiX|Of-2=0]X] AlE EES=IBRE

—> A o|OjHi2|—~<0]A|O0K =) (2F 100 km, 1,200 H) 0| x| Al
ojOjdi2| IC—20|A|OHC—20|A |0 =7 —0c|23 K| JR @-0|%| //. @-0|X| i

AS-2/0|LIE QOA|A 20| X] M =0|X| CHul

— [3) =22 o|ojH}E| ~ 25=0]X] (=) (2F 140 kn, 500 )
o|Od|2| IC—Cl=A|O} OJL}O] IC—O|LIE L0IA|A 2 =0|X|—s5|232X]|

— [3 22 o|ojHI2] — 2%=0]X| (H =) (2F70km, 1,500 H)
o|ojd}2| IC— 2l A0} O|LID] IC—2=0]X] A|H

co|x| AlstOpE

i AlB
— [J 22 o|ojdj2]| 0| X|AlOKK S ) (2F110kn, 1,000 H) S310[A|0} RS
o|Oidl2] IC— O X|A|O} O|LIO] IC—O|RX|A|O} F=7—5I23X] 2310|A|O}

— |€] 32 Oo|ojdi2| — 70| X|jof (= =) (2F 80 km, 500 H) 2>
O|OfH}2] IC—O|SX|A|OF OjLtO] IC—FAIE _'.—_ AlO}CH
AlAHIOI8I7IA] & -

— 7] 32 [y g2
O|O}H}2| « A|O} (=) (2F 30 km, 970 H)
FE2A|0}5HE SA—<22A|0F BS—3|23X|

------- > [5] 22 [E-BIKE 710|= Eof 2 ASA/BICHU 2 ()

@] °!'-AlO}F|E}IC

0 (=)
OIOFHIE] < 2 A|OF (2H=) (2440 kn, 30 H) B3 o |
2|0} 53 SA—2AI0} BS—7|2M MY 28— 523X Y ___ el=Aln)
//ﬁ V@] o!'-AlojojLin] IC
_ 0|5xI71E} IC AN
o =M /HUSH AN 0| x|} A o LT
® 0fl0|= AE|I0| M(S4=LH) EEE o | J \
O Ao # 3
%@ O EMolg
CHEIOIAI S o3 x|o}
o|=xXx|X|apajL}O]f IC
____________ A= [€]
oL = S f Olgl_jlxlul_
[ = ] — == S IR
" o|Z|L}X|O} 2
) @7 23 oz
AS-6/CIEF2HA|OFLtD| 22 ol2pv] & ARA|O}
< 0]Ajof AS-10/012}7] &
Qo|A|olR
SIF1E}X| O}
AS-8/5171E} S.C T} 3 @) 5i7IEXIO}IC
/ S171E}/ @A|OlCHE
< A|0}
O IEXXITEIE G
O {[:] 02 ]
< Al0} BS
o
’;:'
ETTNNH
= ‘Al —
Z2AI0HoHE SA (O R
- 8
® o|OjH}2|7|E} IC 7IEI— O O L=
oj|OH}2|A|
sUM EPDEEME

O|OfHIE] 1C

v, [EEIETE:

=|E SoA 2 <0 F>
-SRI E M 2] 7{E])

A\ IMABARI 70 2=0|X|($710]A|0}) — o|ofHi2] <E=> 7:22 ~ 9:00 (0O|x|A|OF OJL}O] IC 2 ZE|=-2% 17 km) 17:00 (5|2ZX|)

B INNOSHIMA 70 2%0|x|(F70|AlO}) < 0| X|A|OF( 25 7:38~ 9:00 (0| x|AlOF OJLIO] IC 2 2H2|=-2F17 km) 15:30 (2=01%]| AlFE)
O OMISHIMA 100 olojdi2|—<20[A|oK s 7:45 ~ 10:35 (5}FIELX|O} IC « 2 23 km) 17:00 (5|23 X)

DN COMPLETE SHIMANAMI 140 o|ojHi2]| « 2%0[X] <2+5> 8:09 ~ 11:00 (MECIBS - 2} 38 km) 17:00 (SI23AXI)

= ONOMICHI 70 oioiti2] - 2=0[X| <BE X 8:17 ~ 11:00 (M=C} BS - 2 38 km) 15:30 (2=0]X] AlH)
=8 IKUCHI 110 oloidi2|«— 0| x| X|Of M (25 8:41 ~ 10:55 (20|A|OFIC « 2 30 km) 17:00 (SI22XI)

8 YUMESHIMA 80 oiotdi2| — 7to|x|of <B=> 8:57 ~ 10:55 (20JA|O}IC - 2F 30 km) 16:00 (77 &

2 OSHIMA 30 olodi2| « 2A|of <> 9:37 ~ 17:00 (5123 X|)




